
Timely Practice percent strand 7 new learning questions

NO calculator

1. There are 460 seats in the V.I.P. area at a cricket match.

15% of the seats in the V.I.P. area at a cricket match are empty.

Calculate how many of the seats in the V.I.P. area at the cricket match are empty.

2. The school keeper asks 180 students Year 10 students about their journey to school.

40% of the students take a bus to school.

Work out how many students take a bus to school.

3. Amir receives are £70 for his Birthday.

He spends 20% of his birthday money at the cinema.

Work out 20% of £70

4. There are 1500 people in a multiplex cinema.

15% of the people in the multiplex cinema watch a Horror film.

Work out how many of the people in the multiplex cinema watch a Horror film.

5. There are 240 parents at a sports day.

15% of the parents say they would like to run in the egg and spoon race.

Work out how many of the parents would like to run in the egg and spoon race.

Answers: 1) £69 2) 72 3) £14 4) 225 5) 36
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